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500 500 | 900 | 150 | 900 | 900 | 150 | 65 | 0.43 [ 0.81 | 5.3
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500 800 1200 | 200 | 1000 | 1300 | 200 20 88 30
500 200 1400 | 200 | 1000 | 1300 | 200 90 01 20
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600 | 600 | 600 | 150 | 1000 | 1000 | 150 | 75 [ 0.36 | 1.00 | 4.1
600 | 600 | 700 | 150 | 1000 | 1000 | 150 | 75 | 0.40 [ 1.00 | 4.7
600 | 600 | 800 | 150 [ 1000 | 1000 | 150 | 75 | 0.45 | 1.00 | 5.3
600 | 600 | 900 | 150 [ 1000 | 1000 | 150 | 75 [ 0.49 [1.00 | 5.9
600 | 600 | 1000 | 150 | 1000 | 1000 | 150 | 75 | 0.54 | 1.00 | 6.5
600 | 600 | 1200 | 200 | 1100 | 1100 | 200 | 75 [0.88 [ 1.21 | 8.3
600 | 600 | 1400 | 200 | 1100 | 1100 | 200 | 75 [ 1.01 [1.21 | 9.6
600 | 800 | 600 | 150 | 1000 | 1200 | 150 | 90 [ 0.37 [ 1.20 | 4.2
600 | 800 | 700 | 150 | 1000 | 1200 | 150 | 90 [0.42 [ 1.20 | 4.9
600 | 800 | 800 | 150 | 1000 | 1200 | 150 | 90 | 0.47 | 1.20 | 5.5
600 | 800 | 900 [ 150 [ 1000 1200] 150 [ 90 [0.52 [1.20 | 6.2
600 | 800 | 1000 | 150 | 1000 | 1200 | 150 | 90 [ 0.57 [1.20 | 6.9
600 | 800 |1200| 200 [ 1100|1300 | 200 | 90 [ 0.95 [ 1.43 | 8.8
600 | 800 | 1400 | 200 | 1100 | 1300 | 200 | 90 | 1.09 | 1.43 | 10.3
600 | 900 | 600 | 150 | 1000 | 1300 | 150 | 90 [ 0.38 [1.30 | 4.0
600 | 900 | 700 | 150 | 1000 | 1300 | 150 | 90 [0.43 | 1.30 | 4.8
600 900 800 150 | 1000 | 1300 | 150 0.48 1.30 5.5
600 | 900 | 900 | 150 | 1000 | 1300 | 150 054 130 | 62
600 | 900 | 1000 | 150 | 1000 | 1300 | 150 0.59 [1.30 | A9
A00 | 900 | 1200 ] 200 [ 1100 | 1400 | 200 0.97 [1.54 | 8.9
600 | 900 | 1400 | 200 | 1100 | 1400 [ 200 1.12 | 1.54 [10.5
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LEEI#250 = 46.7+119.0+59.9+91.9+52.0 369.5 m UZLAIi#300 X 200(%2  F2)EREL [24.5+26. 2 50.7 m SEIKH1400 x 400 x 460 HRIE L 1.0 #
UZMAI5#250 x 250 (% 4 F1) EiE L 41.5 m UZL{BI7#300 x 300 Heik L 25.0 m SEIKHIT00x 700x 700 (2 4 F1) BIEL [1.0+1.0 2.0 #
UZLI;#250 x 250 (%2  F2) B L 19. 1 m UZL{RI;#300 (40 W= 4.7+5.1 9.8 m K HE700 x 700 % 700 (% 4 F2) ExiE L 1.0 #
UZY4AI;#300 x 150 HRiE L 26.5 m UZUAI;#300 (EH) & 4.0+4.0+4.0+4.0+3.5+4.5+5.0+ $£7k#41000 x 1000 x 1630 HuiE L 1.0 #
UELEI#300x 180 (2 4 F)ERiEL |24.5+27.5 52.0 m 4.6+4.0+4.4 42.0 m ASEHEERR LIMT 11.3+43.2+4.0+3.8+5.1+4.4+5.6 37.4 m
UZA15#%300 x 180 (% 1 F2) B L 47.8 m Ea—LE G250 #E 1.6 m ASEREERR BUUEL 858.9+59.5+217.8+412.0+238.3 1786.5 m2
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